1. Calculate 4H 600 and AS;s00 for the reaction Zr(B) + Oz = ZrOa(p).
(Utilize the Tables in the APPENDIX of the textbook.)

A Hléoo = AHM"OI 2o, 8) ~ 2 chu,;um 4 H lboo , 0

s lboo
SHigse, 210,85 = #H g, 2n 0 "'Jz“ CpdT + s Htanscz00 04000 5,4.\,. G T

= - lloo®e® ¥ j: 69,62 + 530007 T —1u.06x (0° T X

(239
+5fo0 ’fj\,m Ny v 8T
= —loo%oo + 6162 (140%-29@) + 3.6 X6 ( lang™ -295%) +14.64XI0 ( l—ﬁ%-;‘(—g
oot Ny.ys, ((6oo -1%03)
= ~qa.asx00* J

AH 1136 AH
oo, 2v(By = jg_qg p It ANng carcuen +S“€ Cf {a

% - 60 _
- Jm 2.0 HLEKETT T+ ook o 2329 40680 T dT

21 ANCU36- 298 + 5 315 Y0~ (1562~ 298%) 43100 + 93,22 (l6oo -1136) +2.32 Y167 ( foo™ 11367 )

= k. 302xi0%7

l6co l6e0 K -2
AHlbao 0n j CedT =J;“ 29 .94 cye XO T - )6nx(e" T T

= | |
- 2996 loo-226) +2.07X(6 ([beo™ 2962 1 161X (1 - )

= 4.396 0% J

Al o = -99.45K 0" - t.302x10" -1.336¥0 = =1.0%6X0'F

2 Slﬁno - AS[‘”/ 2r0:.(6) _Aslﬂon,mtm _Ag’h’lot

g o, AHmu-;c:..ozu—mﬂ _‘_5 lboo Cp N
| T

a sl&m 12,0206) = & J‘ = dT
+ +
S, 02 (0 T e N

= DY 4 662 In (1202 « 1.5340°C [415-29%) +1.63510° (e, - 3 )

$qo00 6o
+ —ng t T4.4% lh(-rm)

= M3, 37k
25 s, Zv(B) T 4Sagg ey t+ j:: AHM;E:“"““ S\ll‘: & I
= 390+ z|.'m|n(%) + 1163 X107 C11%6-298) + ?",;: + 3.2 (-W)afurgm ( oo-1136)
= {ln3/k
4w, 00 451«5,0-. ¥ zl;: ;F_

o 1\ =
= 2051 + 29 %ln(—l?%a‘) 14 (G x(0 ( boo -29%) + 0. 83540° ( 15z - me) = 260 03/k

AS[SOD = lns\"'q‘rl =260.0 = "W%GJ/I(



2. Calculate the value of 4G for the reaction
Si3N4 + 3 Oz =3 SiO2 (0-quartz) + 2 N»

at 800 K. What percentage error occurs if it is assumed that AC, for the reaction is zero?
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